AENMTA

1 AeniTO = 60 deuTeEpOAETITA




QPA

1 wpa = 60 Aenttra




MEPA

1 HEpa = 24 wpEeGg




EBAOMAAA
1 eBOoopupada = 7 pHEPEG




MHNAZ

Iavouapioc = 31 pépec
$ePpoudpioc = 28 K 29
HEPEG

MapTioc = 31 pépec

Maioc = 31 uépec
Touvioc = 30 pépec
IoUAloc = 31 pépecg
AUyouoTtoc = 31 upépecg
2 entTéUPproc = 30 pépecg
OkTwppioc = 31 uépec
Noéuppioc = 30 pépec
Acképppioc = 31 pépec




XPONOx

1 Xpovog =
12 pnveg
52 BOouadeg

365 pEpeg

7\a




AIZEKTOZ XPONOx

366 pEPEG




AEKAETIA

1 dekasTia = 10 ypovia

2000 2010




AIQONAZ

1 aiwvag = 100 xpovia




XIAIETIA
1 x1AigTia = 1000 yxpovia




